REX

R

INAIN—")—

X8130/130S/150/150S

ab on il #& =

%h 20094 1H

SN

380320 /\Af/\—Y— 150

(Fz—U N RFE)

380150 /\Af/3—%)— XS150S 380313 /\f/3—Y)— XS130S
(FT—UINA R{FE)

REX

BEH A 2020/4/22



380130 /\Af/\—Y— XS130

B A 2020/4/22




380130 /\f/3—Y— XS130
HE| HRES B & & HE| 1ZHEEM B E
1| HSX01 [R—ZX(B) 1 1,660
2| HSX02 [Zo kh/i—(C) 1 3,570
3| HSX03 [JL—KHILAE (A) 1 2,310
4| HSX04 [F5 o+ (B) 1 5,880
5] HSX05 [F¥Hh/ —(B) 1 5,460
6| HSX06 [ZzILkTwi v 1 230
7 4 (H) 1 130
8| HSX07 [vur4 1 160
9| HSx08 [oy 4 1 160
10 | HSX09 [A%)L(B) 1 860
11| HSX10 |[R42450—5 2 200
12| HSX11 [EY (D6) 1 200
13| HSX12 [H/A\—5HY)vT 1 1,000
14| HSX13 [#FEARILE (M4tyh) 1 450
15[ HSX14 |¥vvT 1 200
16 | HSX15 [L/v—(A) 1 1,660
17| HSX16 [XT) 45 (D) 1 450
18| HSX17 [HRILFEL(B) 1 1,660
19 HSX18 |RT1 45 (B) 1 200
20 FA4ayII75 00K (M6 % 35) 1 130
21 E£(G) 1 130
22 NATYTISUURILE (M5%X12) 1 130
23| Z06A A7V LY (6002DD) 1 780
24 FAAYyII500RILE T (MAX12) 3 130
25| HSX19 |HJL¥Tk(B) 1 630
26 CRIE O (EHA FEUT) 1 130
27| HSX20 LI JoJL—k 1 3,990
28| 70690 |~F7 L4 (6003VV) 2 1,470
29 CRE O (73 FEU35) 1 130
30| HSX21 |tHrFLwTR(B) 1 4100
31| HSX22 [+« 1 2,730
32| Cc172 |R7YLy (608VV) 1 1,030
33| HSX23 |[4>FHh/ \—(B) 1 3,360
34| C165 |ANFYLY (6001VV) 1 980
35 —avor5XRL (M4 x 10) 2 130
36 | HSX24 |7ZXFaF7NTFIUHHE)  (100V) 1 14,600
37| HSX25 |7 HhHAK 1 450
38 ~ASYE RL (D5 % 60) 2 130
39| HSX26 |RT—42#8 (100V) 1 8,820
40 | HSX27 [I5L48—3FIL 2 450
41| HSX28 [/\Hooy 1 3,050
42 NM17 |[h—RoFyyT 2 740
43 zC01 |h—HRr TS5 (7x11x17) 2 840
44 HP67 [H—RI kLS 2 860
45 *—LTL—k 1
46 A7 RIFFRHAL (M5x60 £) 4 130
47 i) r—LTL—k 1
48 250042 vE R (D4x25 ) 5 130
49 | HSX29 [/\2KRIL(B) 1 2,030
50 | HSX30 |RAvFrUH— 1 200
51| HSX31 [RA4vF4R 1 8,820
52 | HSX32 |Rbw/iikAay 1 630
53| HSX33 |[RTY 4 1 200
54 | HSX34 [/\2FJL(A) 1 2,030
55| HSX35 [Fa—7J(D) 2 200
56 7500 2vE L (D4 x 16) 2 130
57| HSX36 [3a—FK4UvyT 1 200
58 | HSX37 |a—K7—% (D10.1) 1 200
59 | HSX38 |F+¥TARAYa—F (2C X 2.6m) 1 2,520
501 ZB24 |RAER/INT (FET4) 1 130
502 | HSX39 [—ZR 1 8,820
EE= 2020/4/22




1.2 K ER

380320 /\Af/\—Y— 150

BEEH A 2020/4/22




380320 /\A/¥%—Y— 150
1.ARKER
HE| HRES B & % W= 1ZHEEM =
1 AOFENRAIUTERILE (M5 X 16) 1 130
2| 381009 |V—RILA GEHA) 1 — B mikiy
2| 381008 |V—RILF (EHAA) 1 — & ik
3| HPO3 |=—FiAR7YLy (KN6/10T2) 3 1,840
4| HPO4 |E> 3 130
5 AIOFENRAIUTERILE (M5 X 20) 4 130
6| HPO6 |FaavsRfERIFEIEHRLE (M8X6) 1 210
7| HPO7 |RTUYLHE 1 260
8 #lzk (D 6.35) 1 190
9 oYy (S-18) 1 130
10| HP10 |>—ILTL—b 2 380
11| HP11 |o—bRuFxy 1 270
12| HP12 |REVKIL(TSUPY) 1 24,150
13| HP13 |[EY (D6) 1 420
14| HP14 |RY—7 1 990
15| HP15 |A4FK7AvY HEQAEEL 1 29,400
16 | HP16 |R—)L/vyFHl 1 4,100
17 NANFELEHRL (M5 x 8) 1 130
18| HP18 |7w/S—H/\— 1 7,560
19| HP19 [RAN)LEXYEh(REVRIL) 1 3,150
20| HP20 |[RSRRIVI v (FToE—1))) 1 1,920
21| HP21 |[RSRAR=Z—FIARF7YLH 1 1,260
22 | HP22 [aUT4VTE—XR 1 1,260
23| HP23 [RAXR)L¥y 1 13,340
24 | HP24 [R7YLy (6202VV) 1 960
25| HP25 |7viw(A) 1 130
26 NATTETISUURILE (M5%12) 1 130
27| HP27 [&#YTL—F(R—X) 1 630
28 | HP28 |#&gH/\— 1 3,780
29 | HP29 |F¥V¥H/\— 1 7,560
30 L—AvHYRIFELERRQL (M4 x12) 3 130
31 2500fERYEVRLE (D5 % 30) 4 130
32| HP32 [R7UYLT Iy (C) 1 130
33| C154 |R7UYLy (6000VV) 1 1,790
34| HP34 |E% 1 190
35| HP35 [ —oOwsmial (M5x12) 1 130
36| HP36 [X7ULTxvvT 1 380

E#HA

2020/4/22




380320 /\f/\—Y— 150
2 E—HR-FT—2INARER

EEH 2020/4/22




380320 /\1f/\—Y— 150
2.E—HR-FT—2INARE}
NE| HaEs B & A WE| {2 W E
1
2| HP52 |CHib&HEm (EHAR FFUA12) 1 130
3| HP53 |[RF7YLY (6201DDU) 1 860
4| HP54 |RFYLThN— 1 860
5| HP55 |7<Fa7(100V) 1 23,100
6| HP56 |7vi+v(A) 1 130
7| C172 [(RFPyLy (608VV) 1 1,030
8 7)oy ayy 1 130
9| HP59 |<FH%uk 1 1,670
10| HP60 |27 HAK 1 690
11 NAZVE RL (D5 % 60) 2 130
12| HP62 |RT—4A(100V) KFE13ZSD 1 7,560
13| HP63 |75 4—3F)L 2 370
14| HP64 |/\9PL 5 XZFE16, 17520 1 7,560
15 F—LTL—bk 1 —
16 NANFEIEHRL (M4 % 6) 1 130
17| HP67 |h—RRILA 2 860
18| ZCO1 |h—HRrIT5L (7%11x17) 148 840
19| NM17 |A—RoFvyT 2 740
20 il r—LTL—bk 1 —
21| HP71 [ax4% (50092) 2 210
22 | HP72 [ax49% (50091) 1 160
23 J—RJ A 1 130
24| HP74 |[arro—5#H KFE2552=T 1 18,380
25
26 72500 EAVE RL (D4X12) 1 130
27 2500 EAYE QL (D5 X 25) 4 130
28 | HP78 [/\>FIL(B) 1 1,470
29 2500 EAYE RL (DA% 20) 2 130
30| HP80 [RUARAYF 1 2,100
31 2500 EAYE RL (D4X16) 4 130
32 a—k5)v7 1 130
33| HP83 |a—FK7—<% 1 380
34| HP84 |[F¥THRAYa—F (2.6m) 1 2,520
35| HP85 [/\2FIL(A) 1 1,340
36| HP86 [t H—I¥Thk 1 9,240
37| WL4AL [RTYLTEY (4%10) 1 130
38| HP88 |[axyFa4v5TL—Fk 1 1,430
39| HP89 |[=—FIEY (D5%19.8) 1 190
40 | HP90 [/A/AR—X 1 9,870
41 | HP91 |AYK 1 2,730
42| HP92 |k 1 7,140
43| HP93 |[TARBAVAE—R 2 320
44 | HP94 |[Fz—V 1 7,980
45| HP95 |[Fr—rnNAR—= 1= 39,900
ZB24 |NAHBR/NT (FEUN4) 1 130
HP96 |8~ —X 1 25,200

E#HA

2020/4/22




380150 /\1f/\—Y— XS150S

BEHE 2020/4/22




O
380150 /\f/\—Y— XS150S
1. RAKER
H%E| HeEs B & 4 HE| ZHEEE e
1| HPX01 |F¥THAV¥a—F (1.25 % 2C X 2.5M) 1 2,520
2 | HPX02 [a—F7—< 1 380
3 | HPX03 |A#vErHl (M4 x 16 45555) 2 130
4| HPX04 [a—F45yy7 1 130
5| HPX05 |#vE 4l (M4 x 20 45555) 5 130
6 | HPX06 [#vE> Rl (M5 x 30 455%5) 4 130
7] HPX07 [/Z\FL (R) 1 1,470
8 | HPX08 [/\FJL (L) 1 1,470
9 | HPX09 [RAvF 1 1,890
10 | HPX10 [FUAH 1 420
11| HPX11 [#vEr ARl (M4 x 30 45555) 2 130
12| HPX12 [avkO—5a=yk 1% | 16,800
13 | HPX13 [h—RokILE Tx11) 2 890
14 [ HPX14 |h—HKR2ITS5Y (7% 11x17) 148 740
15| HPX15 |[h—RoFvvT 2 420
16 BRIPRLE (M4X10XP0.7) 1 130
17 FEE (4X10X1) 5 130
18 | HPX18 |*F ®vb (8% 15X 5) 1 1,030
19 | HPX19 [RR—4 (8x12%105) 1 380
20 [ HPX20 [/\HTo 5 1 6,830
21 | HPX21 |[RT—% 1 8,930
22 | HPX22 |[FhEE#AAFVE QL (M5X60) 2 130
23 | HPX23 |27 H4AK 1 900
24| S373 |RNF7UYLY (60822) 1 890
25 [ HPX25 [7=<Fa7 (100V) 1 19,430
26 | HPX26 |[RF7UYLY (6001DU) 1 980
27 | HPX27 (oY% (¢$28x2) 1 160
28 | HPX28 |RfFUtERILE (M5 x 30 F40vAYY) 4 130
29 [ HPX29 [#vErHl (M5 x 40 4555 5) 4 130
30 [ HPX30 [F¥¥H—2R 1 9,450
32 | HPX32 |[=Z—FILRF7Y 5 (TLA1015) 1 1,890
33 | HPX33 |RSRNTvi¥y (p40x $60x1) 1 3570
33 [ HPX34 |[RSRKRTYLY (40603) 1 ’
35 | HPX35 |RAR)L¥y (57T) 1 11,550
37 | HPX37 [HA4FZJOvs 1 5,670
38 | HPX38 |[=—FILRF7YLH (TAF71410) 1 2,210
40 [ HPX40 |AvyTUL T RSvs 1 6,830
41| HPX41 [RAFUFTERILE (M5 x 12 $40vAy%) 2 130
42 | WQO06 |#HEk (¢6) 1 130
43 | HPX43 [RTUL 5 ($08% p41x $p57x6T)| 1 130
44 | HPX44 |7w/8—Hh/3— 1 13,130
45 [ HPX45 |A4FO0—5 (p6X p12x10) 2 1,890
46 | HPX46 |0—5&H(43) (6 x28) 1 950
47 | HPX47 |Zx)LbRwxy 1 460
48 [ HPX48 [—IL/xvFY 1 460
49 m/pal (M3X10XP0.7) 2 130
50 | HPX50 [R—/L/vyFHl (M10XP1.5% ¢6) 1 2,310
51 | HPX51 |[V—&YJFL—k 1 950
52 NRATMFERILE (M5X16XP0.8) 2 130
53 | HPX53 [REVEIL(TS2Pw) 1 9,980
54 V—ikJILZ 1 — ETNTE
56 | HPX56 |Z7O> kb —(TLH/3—) 1 3,360
57| 7B24 |REAHR/F (FETA4) 1 130
58 | HPX58 [#tlETvi+ (pax p11x1) 1 130
67 | W752 |RANSFEIEHRL (KIXH 5k M5 X 6) 2 130
60 [ HPX60 |RSRARRTYLY (0816) 1 1660 R7YvFEy b+
61| HPX61 [RF7ULHT Ty + (p8Xx P16x1) 2 ’ HPX60 - 61
62 | WG05 [IhES (5) 11 130
63 | HPX63 |R/3F7RILA 1 400
68 EEE (5X12X1) 1 130
65 | HPX65 |O0—S#h(K) (¢6x33) 1 1,010
66 | W742 |REANAFEIEHRL (KIF#%k M4 x6) 2 130
59 HPX70 [Fz—o 42— 1% | 35,700
59-1] HPX71 [/N\ARKIK 1 7,880
59-2| HPX72 [Bu{tEHh (M14XP 2.0) 1 6,830
59-3| HPX73 [+l /\— 1 3,360
59-4| WL4AL [RTYLHEY (4x10) 1 130
59-5| HPX75 [#EY#Hl (M14XP 2.0) 1 6,090
59-6] HPX76 [Fx— kLA TS5 vk 1 1,260
59-7] HP89 [=—FILEY (D5 % 19.8) 1 190
59-8| HPX78 [TA4REVEE—X 2 210
59-9| HPX79 [Fz—v 1 10,290
64| HPX81 |F¥¥ULI7r—R 1 8,190

BHE

2020/4/22




380131 /\f/1—Y—130S

BHE  2020/4/22



380131 /\(/3—Y—XS130S

HE| BRBES B & BE | ZEHIH HE

1 HPYO1 | TEA¥a—F (1.25x20x2.5M vd 1 3, 260

2 HPX02 |a—FkK7—<% 1 380 XS150S8 EIFE2H RER &
3 HPY02 | R/XFHILE (K) 1 370

4 HPYO3 |R"FA#HER /NS (FETr6) 1 130

5 HPX03 [#vyE> 4Rl (M4 x16 455k 5) 2 130 X$150S EIHEILFAE S
6 HPY04 |FEE (p4x ¢p8x1) 4 130

7 HPX04 |[a— Koy v 1 130 XS150S EFEAH FAHEH
8 HPY05 |RA v F 1 1,970

9 HPX05 |#wE L (M4 x 20 4555 5) 4 130 X$150S EIBSE RIS
10 HPX06 |#vE>4l (M5 x 30 4Bk Eh) 4 130 XS150S  EIZE6HL FRAER &
11 HPY06 [D/v> KJL (R) 1 1, 800

12 HPYO7 D/ FJL (L) 1 1, 800

13 HPX11 AyERL (M4 x 30 45k &) 2 130 X$150S EIHEI1HE RIS
14 HPYO8 [arbkA—Fa=wvw b 1 17,330

15 W242 |~ (M4 x10) 1 130 XS1508 EFE 16+ AR
16 Wi42 EEE (pdx p10x1) 1 130 XS150S EHFITH RS
17 HPX58 |#ilET v+ (pd4x p11x1) 1 130 XS150S  RIFE58+ FHER &
18 HPX18 |45 %y b 1 1,030 XS150S EFHI8H AR
19 HPX19 [AR—+ 1 380 XS1508 EIFE19H AHER M
20 W752 NANFIESHI L (L IFH5EM5 % 6) 2 130 XS150S EI&HESIH AR &
21 HPX13  |H—ARRILE (7x11) 2 890 XS1508 EIF13HL AER M
22 HPX14  |A—FKR> TS5 (Ix11x17) 2 740 XS150S EHI4HREB&H
23 HPX15 | h—RoFrvF 2 420 XS1508 EFE 15 ARG
24 HPX20 |\ o5 1 6, 830 XS150S  E#&20+ FHER &
25 HPY09 |#&tR —IL 1

26 HPY10 |#%—JL 1

27 HPY11 |RFT—#% (100V) 1 10, 820

28 HPX22 |[FhESHAAF v E 1L (M5 x 60) 2 130 XS150S  B#E22+ AR &
29 HPY12 |97V HA R 1 1,090

30 S373 7Yy (608Z22) 2 890 XS150S EFHE24H FREB &
31 HPY13 | Z7=F a7 (100V) 1 23,100

32 HPX26 |RX7 1Y 5 (s —ILR) (6001LLU) 1 980 XS150S E#H26HFRER &
33 HPY14 Sviavir—XA 1 13,130

34 HPY15 |[FhESHAAF v E L (M5 x 45) 4 130

35 B FACE AL R (FEUA1T7) 2 130

36 HPY16 |¥+ (M1.25 x 47T) 1 11, 760

37 HPY17 (U529 1 8, 820

38 HPY18 |¥— (5x5x10) 1 320

39 FNACENE B (FF 1135) 1 130

40 HPY19 [ RF7 Y5 (600377) 2 3, 050

4 HPY20 (a4 TF4>dBYE 1 14,180

42 HPY21 A B )L 1 800

43 W552 FS R L (M5 x 8) 5 130

44 HPY22 |REY KL 1 11, 340

45 HPY23 |AZ LK 1 3,710

46 HPY24 |A A4S —J)L 1 1,470

47 HPY25 |AA L —LTy ¥ 1 130

48 HPY26 [z b vy 1 560

49 HPY27 |95 RILE— 1 2,420

50 HPY28 | X715 (&S —ILH2) (6002LLU) 1 3,570

51 HPY29 |2 v 3 5 —RAB 1 17, 640

52 HPY30 |FEEE (p6x @18x2) 1 130

53 WGO6 IThES (¢6) 1 130

54 W066 RAFMRIL b (M6 x 35) 1 130

55 HPY31 | R7PYVTxry T 1 300

56 HPY32 |[FtafE£#HAH4a L (M5 x 25) 4 130

57 HPY33 |V— R FHS5— 1 4,940

58 WL36 o—J)LEY (¢3x18) 1 130

59 HPY34 |AvH EY 1 3,150

60 HPY35 |EfEa A JLIEta 1 130

61 HPY36 |V —7RILF /R 1 210

62 HPY37 |V—RIE/ T 1 1,500

63 HPY38 |#hFACEILL sHi (FEU21) 1 130

64 HPY39 |a—TFL—Fk 1 5, 460

65 WGO8 IThES (98 1 130

66 W081 RAFMRIL b (M8 x 16) 1 130

67 HPY40 | LH/N— 1 4,240

68 HPY41 x5 —R 1 9, 030

69 HPY42 |7 —RI—JL 1 690

A

2020/4/22




